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Ve AL R

EFRAS R H S
2018 &£ 6 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
() |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 — 0.020 0.005 &
LA i 1.512 0.007 — 0.430 0.076 =
/L4, (HCI) 4,545 0.001 — 0.286 0.085 =
mIbE (HF) 0.306 0.002 —0.101 0.026 s
— &b (SO2) 15.147 0.021 — 9.639 2.471 =
—4& kbR (CO) 7.578 0.000 — 0.149 0.063 =
HELY (NOx)
PL—&/EE (NO2) 30.303 1.070 — 8.855 3.066 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 — 0.008 0.005 &
LA 0.756 0.027 - 0.124 0.076 =
/L4, (HCD 0.756 0.038 - 0.182 0.086 =
wAbE (HF) 0.072 0.014 — 0.045 0.026 =
&R (SO2) 3.789 2.162 — 2.838 2.472 =
—&Ei% (CO) 3.789 0.008 — 0.104 0.063 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.926 — 5.163 3.070 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.632 x 1010 =




Ve AL R

EFRAS R H S
2018 &£ 6 H
Y& AF
S HeERPRE® R IE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 — 0.477 0.007 &
LA i 1.512 0.017-0.314 0.067 =
(L& (HCI) 4.545 0.004 — 0.296 0.132 =
mIbE (HF) 0.306 0.000 — 0.089 0.040 s
—&AERi (SO2) 15.147 0.001 — 4.592 1.730 TE
—4&bi% (CO) 7.578 0.000 — 0.098 0.017 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.417 — 11.936 3.442 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 — 0.084 0.011 &
LA 0.756 0.031-0.104 0.068 =
/L4, (HCD 0.756 0.068 — 0.190 0.131 =
wAbE (HF) 0.072 0.024 — 0.048 0.039 s
&R (SO2) 3.789 1.482 —2.164 1.748 =
—&Ei% (CO) 3.789 0.006 — 0.035 0.018 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.001 - 5.876 3.463 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575x 10°° <5.377 x 1010 =




Ve AL R

EFRAS R H S
2018 &£ 6 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.106 0.033 &
LA i 1.512 0.031-0.379 0.069 =
Z/LE (HCD 4,545 0.021 -0.194 0.078 TE
mIbE (HF) 0.306 0.008 — 0.050 0.024 =
— &b (SO2) 15.147 0.130 — 5.432 1.937 =
—4&bi% (CO) 7.578 0.000 — 0.046 0.012 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.581 — 4.263 1.890 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 — 0.064 0.033 &
HEA T 0.756 0.052 - 0.111 0.069 =
/L4, (HCD 0.756 0.057 — 0.117 0.078 =
wAbE (HF) 0.072 0.020 — 0.033 0.024 s
— &b (SO2) 3.789 1.799 — 2.100 1.936 =
—&Ei% (CO) 3.789 0.002 — 0.025 0.012 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.152 — 2.702 1.888 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.779 x 1010 &
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EFRAS R H S
2018 &£ 6 H
&% BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.002 — 0.583 0.071 &
LA i 1.512 0.000 — 0.478 0.066 =
/L4, (HCI) 4,545 0.000 — 0.159 0.099 =
mIbE (HF) 0.306 0.002 — 0.058 0.031 s
— &b (SO2) 15.147 0.039 — 3.337 1.781 =
—4&bi% (CO) 7.578 0.005-0.211 0.069 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.628 —5.229 1.644 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.133 0.072 &
HEA T 0.756 0.015 - 0.107 0.066 =
/L4, (HCD 0.756 0.021 - 0.140 0.097 =
wAbE (HF) 0.072 0.021 — 0.040 0.031 s
—&AbiR (SO2) 3.789 0.883 —2.030 1.781 =
—&Ei% (CO) 3.789 0.047 - 0.113 0.069 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.159 — 3.008 1.641 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 0.0008 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0062 &
IR R g ) 7.575 x 10°° <7.110 x 1010 &
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